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10 Times Table

Questions: Count in 10s and colour in the grid:

a. 2x10=_ 12 (3|4 |5|6/|7/|8|9]10
b. 3x10=_ 11|12 | 13 |14 15 16 | 17 | 18 | 19 | 20
¢ 4x10=_ 21 |22 |23 |24 | 25|26 (27|28 |29 30_
d 5x10=_ 31 /32 33|34|35(36(3738/39|40
e. 6x10= 41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50
fo7x10-_ 51 | 52 |53 54| 55|56|57|58|59 60I

61 | 62 | 63 | 64 | 65 | 66 | 67 | 68 | 69 | 70

71 |72 (73 |74 |75 |76 (77 |78 | 79 | 80

81 82 83|84 |85|86|87) 88|89 90

91 | 92 | 93 | 94 | 95 | 96 | 97 | 98 | 99 |100

How many of each? There are 10 cubes in each stack.
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Gro el en Gorcla s
5 Times Table

Questions: Count in 55 and colour in the grid:
a 2x5=__ 1|23 |4/|5|6/|7/|8/|9]|10
b. 3x5=_ 11 (12 (13 |14 | 15|16 |17 | 18| 19 | 20
¢ 4x5=_ 21 (22|23 |24 |25 |26 |27 |28|29 |30
d 5x5=_ 31 /32|33 (343536373839 |40
e. 6x5=_ 41 |42 |43 | 44 | 45 | 46 | 47 | 48 | 49 | 50
foTxs5=_ 51|52 |53 |54 |55|56|57 585960

61 | 62 63 | 64 | 65| 66 | 67 | 68 | 69 | 70

71 |72 |73 | 74 |75 |76 |77 |78 | 79 | 80

81|82 |83 |84|85|86|87|88|89 |90

91 192 93 |94 |95 |96 | 97 | 98 | 99 | 100
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Word Search

5 Times Tables

NI SRV AV ST W)

Answer the calculations below and find the answers in the

word search:

5x3= 5x4=

5x9-= 5x2=

5x5= 5x8=

f i f t e e n t w t
t 0 h f 0 r t y w w
w t r S i X e e t e
e w r t e s e s h n
L s e L y n L h i t
v k i e t f 0 r t y
e a e y e a L t t t
n 0 r t e 0 0 v y e
e n n e e t h g e e
t w e n t y f i v e
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Colour by 5s Multiplication

L roud
= Lg_géuar

Do the multiplication calculation and colour the shape in the
correct colour.

0-10 11-20 41-50 51-60
( B
6 x5 3x5
Ox5
1x5
11 x5
7x5
5x5
12 x5
4 x5
9x5
2x5
10x 5
8x5
G J
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